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A7 J A Brief Table of Integrals

The formulas below are stated in terms of constants a, b, ¢, m, i, and so on. These con-
stants can usually assume any real value and need not be integers. Occasional limitations
on their values are stated with the formulas. Formula 5 requires n # —1, for example, and
Formula 11 requires n # —2. The formulas also assume that the constants do not take on
values that require dividing by zero or taking even roots of negative numbers. For exam-
ple, Formula 8 assumes a # 0, and Formula 13(a) cannot be used unless b is negative.
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if n is an even
integer = 2

if nz is an odd
integer = 3





